THR2SEE AHMRRR

(Nifz bl MBEBRER HENE B ] B 8 ]
122335 TR i S STEBOKXIERE 0 SZFR - HeRPTEL &7 1
2
REHKX @ 0 FTEILEEE (RTEEE8, ) nf 8,220
I 2% = s I 3 K)\D b2 /N> =
EREASKSHAD (H29.1.1570) 50,127 A s i e 0 BEAS 7 0
RIS ox REHK XIS EE 0 ElE 0
(DBEFKICHDNDED) |E§ﬁ€
IRTEHEKAD . -
s K G SBFKCHDEED) 0 SRS 0
- - S = BRI 0 o8 .
= (5BBKCHNDED) & BT 0
i 395,136 MEBKAD 0 B 0
&5 TRBE |REEBHOKIES f?’;’f;’gt;%”; NEE - HRAME
[ 2,284,875 SRR 0 SITRSH 0
QEIEuAVA 116 HEHKAD 0 ST 1
JE—— n (SBBKRICHNZEND) PN
BTN o , S MING R KK , NEREE — .
#3F0 (3BBKCHNZED) =
N\ far:
sE% BRI II 228,384 kAT 0 Tt 1
L= INHREE S HEK IR 5% = TILBULEE@@F S
Zoft 0 el 0 SEBRN 9
JNES P 0 JIa”"5+~ - SV RUEAD 0 EE 0
EES | sppepe == 0 SHMES(CEMEAD ooot| |EOmO R BiEmay 0
. ’ EIES VAR
REIER (HERD 1,290 | HEIAIZHESR BT 1 Bl 1
- ES=Fn - EN= e
WEER (FHETA) 0 iSEE —EPEBIEHASTINEES | BRI 0.0 SEBSH 5
nEAD o3l | |PER e PONIINER i 0 R 0
L/}i EF?%A”&%E 1B . S P Bﬁtﬂﬂ}itﬁ .
ez ditINES 2,948 BB 7SS 1IMEER | BETE 0.0 SIHEMN 0
NIBHES n
g | EAC 50,050 mis ) | DEAINR | 0 P i
e —— il : IS
FRGINGES 17,223 —BiEISAES IR | &P 0.0 SIS 0
HmENE 0 = BRI | ThEIA T 5EER EPTEL 0 EFTEL 0
Rk B X J—)L
—BEIFEEE 0 ax =LA —BlEIFMAS IR | B 0.0 SRS 0
EIKEFE [#65kA0 - - -
BRIk HENE 0 sz BT YT 5EER EFTE 0 REV5— e 1
@'—tfﬁﬁﬁ'@gg _nﬂgvg%ﬁl_\»« m—A 1 I YA T HEEN | A TR ke = = = Y
EHESE 0 BB FEHAS TSR | BRTE T 0.0 SFEDXR BT 0
REHKAD 30,106 p— RERR | hEIAYIziEs B (T 0 BROR BIEBEY 0
SEMER
SHEHEKX S ETE 10,920,000 SENESR | BN ERiE T 0 ERIE! 21
S ERNEER
REHKR AT 4,780,000 HHME | BRI IIHES B T 2 L@ 2,197
= ==
SHEERARIRY 0 5?6 Ciem | MEIAIIZNERR R T 2 & ity CtofEDd 1,223,669
TGS
TKEE | RHETKE IRTERRRAMBIRH | 475 0 2y GEEE) 120,664
NEHRE
HENEREE 10,920,000 = Tith (GtFE) 125,034
el
RN EE 4,780,000 = 2y GEER) 1,742
REMERERAD 30,106 = THRERES Tty () 0
BEE
BHEKSEFRESAD 28,956 ZDHOERE T (iE 0




